
Germany in transition: the story so far, Part 3 
Consolidation of Hitler’s power: from Chancellor to Fuhrer 

 
 

By Jan 1933, Hitler’s position was: 
 
 
 
 
His priority / ‘to-do’ list might have 
included: 
 
 
 

 

The R_________ Fire happened on 27th 
F_______ 19___.  It was blamed on 
_____________.  This led Hitler to using 
Article __ to persuade Hindenburg to 
pass the D_________ for the 
P____________ of P_______ and 
S_________.  The impact of this was… 

In the elections of March 1933, the 
Nazis won ______ seats.  This still 
wasn’t a majority so they joined with 
the N________ Party.   
 
 
Hitler then passed the E_________ Act 
in M_______ 19___.  

The increased the power of the Nazi 
Party because it… 
 
 
 
 
 
 

By the end of March 1933, Hitler had 
achieved the following from his ‘to-do’ 
list: 
 
 
 
He still needed to secure the support of 
the A_______. 
 
 

Hitler needed to ensure the military 
were ‘on his side’ if he was going to 
achieve his aims for Germany.  His aims 
were: 

The N_________ of L_________ 
K_________ happened in J_______ 
19___.  On this night the SA were…. 
 
 
Many other political opponent were 
also killed, including Von S_________. 
 
Over _____ people were murdered on 
this night. 
 

Following the events of June 1934, 
Hitler ensured control of the army by 
making them…. 
 
 
 
This was different because they were 
asked to… 
 
 
 

Hindenburg died in A______ 19___.  
This allowed Hitler to combine the 
positions of C_____________ and 
P__________ so that he could become 
F__________.  He achieved public 
confirmation of this by holding a…. 
 
 

Events that reduced the opposition to 
the Nazi Party: 

Events that increased the power of the 
Nazi Party: 

Key date check: 
Jan 1933 
Feb 1933 
March 1933 
June 1934 
August 1934 
August 1934 
August 1934 
 
 

 


